THSEE F46l RBRPMEENL—FR—ILKRE EHETFESR BF HR (298)

BB 7H298 TEA £ % BEITSHURKERE E-F O—F
R e e M S
1|=JIlR|2]0([1.00 |0]0[0.00 |96|75|0.56 || 1
F 2|# 3@ |1|1|050|0[0[0.00 |70|67[0.51]| 2
)
3|3 sk|0|2]0.00|0[0[0.00 |72|96{0.43| 3

@ SHl BRI
A SN [N et I - B S
R EEa e e e e e R
4|k 1#|1(0[1.00|0|0]0.00 [97[78]0.55] 1
F 5(4t E|[1/1]/050]0[0]0.00 [s6/83|0.51 ] 2
2
6|X BF|0|1/0.00|0[0[0.00|s9]|111{0.45]|f 3
IF
@) 114 RHEIELT
x120 — 22|10 1 s 2 3 z
2 0Ol21 = 7|x 1 i j(iﬁ i ﬁ'l'% i j(E'.I’
Ol15 — 12| x

THSFE F46E RBENZENL—R—ILRKE EHETTFER B5F KR (308)

HR B 78308 BF REILGHREE G-H a—hk

_ O 21 — 14 x - - O 21 — 12 x -
G1 =P 021 — 8§ x ~F B #E H1 A O 21 — 14 x K & B
Bola - B (& solal - |om2|a
. |O 21 — 19 x x 17 — 21 O

G2 o O 21 — 13 x X B =l H2 iR O 21 — 18 x B K X &
2jmolal - |owsla 2|1 1&]o v - 16 <[ o|m 3]E
—_ 021 =9 x L |02t =17 x )

cal =" o g BB 4 A PO I L

B ola - B |& solel - |20m+]a
. |02t =17 x - x 14 — 21 O .

G4 R x 15 — 21 O 5 R = H4 K O 21 — 15 x X H X &
30 1[0 s - 2 x| 2[8 2]8 ol 4|gl < 12 - 50| 138
= x 13 — 21 O * i%}

GS O 21 — 13 x SNRF—LAMKE IS —T5m)

B |glos -0« [ & SNFETOTHAREIRMESEL A,
B & & B | %EB | Zi& EAR Eoh
F—L#| K &  H 8 E X % A K

COLEf F—LMNO0A21BICHESNFTRBRRSHBINETS .



